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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in Two Sections and printed both in HINDI and in ENGLISH.
Candidate has to attempt FIVE questions in all

Question Nos. 1 and § are compulsory and out of the remaining. THREE are to be attempted choosing at
least ONE from each section.

The number of marks carried by a question/part is indicated aguinst it.

Answers must be written in the medium authorized in the Admission certificate which must be stated clearly
on the cover of this Question-cum-Answer (QCA) booklet in the space provided. No marks will be given for
answers written in medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a question shall
be counted even if attempted partly. Any page or portion of the page left blank in the answer book must
be clearly struck off.

Ak A als &S i & F W T P 4


https://prepp.in/

WwWw.prepp.in prepp

Your Personal Exams Guide

AVE—H
SECTION-—A |
Q. 1 frmfufa ¥ & wff vl & 3ok AR, §r wdE W 150 T F T ARY —
Answer all of the following in about 150 words each :— 5x10=50

Q. 1(a) ﬁﬁﬁqﬁ:ﬁ%aﬁa&maﬂ?umﬁmw&mﬁwﬁmmumm?

Discuss how the efficiency and effectiveness of a manager would impact organisation
performance. - 10

Q. I(b) wew-yuE-aRuny & i F7 qeu & 7 59 €I H ICEW TEd FQ@ g T A |
What is the relationship between Goal-Effort-Result ? Explain with an example. 10

Q. I(c) UF ITBI T&A &d g WhE IR Wik & fu AT #ifa | guider 9
yaR =i & o § ogfg s owwar @ 7 |

Distinguish between ‘Authority’ and ‘Power’ with an example. How can empowerment

enhance individual performance ? | - 10
Q. 1(d) ewrdh #ard Rwdfes Tyww) A sk g7 3 O 3w® gwifad ot &1 T

I | ' '

Explain ‘Affirmative Action’ and its implications for organisations. 10
Q. I(e) AT wdrs (MFedRRue #AAWX) 1 9uA F ¥ a9 frw Rfine awo w1 @ o

What characteristics would you look for in selecting an expatriate manager ? 10

Q. 2(a) aEEIYF Ty @1 Mregw #A §F wAa gEwA ydud s @ ofher w8 ?

What is the role of human resource management in formulating business strategy 7 13

Q. 2(b) ¥ufrrs wwde & wedl ¥, el geuw WA (TRdwr), sPgREl @R wEER & €19 w9y
B O = Ll s -

Explain the relationship between values, perception, attitudes and behaviour in context of

individual behaviour. . | .20
Q. 2(c) ‘wRwgar (sfdiefing & 7w o 2 ? we Fofga ufbw ® fhw we giad ST
g 7

What is ‘Stereotyping’ ? How does it influence the decision-making proce'ss 7 7+8

Q. 3(a) ftmA "wsA (AT mﬁ#@m)%g@qﬁ'ucmw—ﬁ%?aﬁwﬁwﬁﬁ
$ oI T IE Be FIS | L

What are key ingredients of a ‘Learning Organisation’ ? Give an example to substantiate

your answer. f 10+5
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Q. 3(b)

Q. 3(c)

Q. 4(a)

Q. 4(b)

W BT [ e ger W fSarga vl e @ e wogwm e
Explain how ‘Job Design’ would influence ‘Quality of Work Life’ ? 15

ﬁﬁﬁuﬁaﬁ%qﬁr’%waﬁqﬁ%?mﬂﬁaﬁ%ﬁﬁﬂﬁmm%m,m
g ¥ gETT Aged e gl |

" What is ‘Situational Leadership’ ? Suggest the leadership style that is relevant for different

levels of maturity of subordinates. 10+10

WISATEHS TAd & 91X Gidl & qui Sl | 979 g Y Ha=rd * sq9s 37 gurig
CE G - |

Describe four sources of organisational stress. How does stress impact employee behaviour ?
10+10

A (Corporate) FWIFF fica’ (Hruganc) 7o 8 ? wig 3 wedl § el g
H MR T AFR GEA F AU FINY |

What 1s Corporate Social Responsibility ? Describe two CSR initiatives taken by organisations
in the Indian context. 8+7

Q. 4(c) WP wifd 3 FTET-gERN ® AW W yw qIS SR e B wwldd fw @7

How has technological advancement influenced communication and relationships amongst

organisational members ? 15
WUS—qg
~ SECTION—B
Q.5 fFfrafeifaa & & ot gt & It i, & v_F TI9T 150 Ts6f ® & —
Answer all of the following in about 150 words each :— 5x10=50
Q. 5(a) ¥ @ (Sfoew TU) ¥ fauvm & wsfa v =wflq (@) &1 fagdum HiE |

Q. 5(b)

Q. 5(c)

C-DRN-N-ONHUA

Analyse the nature and scope of marketing in the digital era. 10

o gaeAl # fog 9nd e’ (fodz wee) i ST A 3 e R AT |
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Distinguish between ‘relevant cost’ and ‘irrelevant cost’ for decision-making purposes.

10
ﬁaﬁmm’ﬁmwm%?m%ﬂwﬁﬁ?ﬁﬂaﬁﬁﬂgm%ﬁm%ﬁ@
g 7

What do you undérstand by ‘Capital Adequacy’ ? Why is it important for financial sector

reform ? | | 10
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Q. >(d)

Q. S(e)

Q. 6(a)

Q. 6(b)

Q. 6(¢c)

Q. 7(a)

Q. 7(b)

Q. 7(c)

C-DRN-N-ONHUA

e & dwfers fafel & &1 # AT v SR @ =7 gaw #IR ST
aRd @ e #RE, ' '

Compare ‘leasing’ and ‘buying’ as alternative methods of financing. Explain with an

example. 10

HUH T F AMGR W IEEF INRARY X (¢ A% RTT) &1 geherd w7 . fafy
HI, ITEW Y&Id Fd §Y, WS il |

Explain with an illustration the method of estimating required rate of return based on
CAPM. ' 10

o fawor s Wi o & v osiadl € yeld F OhH-Th IS U

$Id §Y, TS I |

Explain the differences between ‘Consumer Marketing” and ‘Industrial Marketing” with
one example from each. | 1248

el AGEOT, T AEEr v ‘YT JEEOT @ g sax A1 wwe HR (A
g g TF qEL & @Y d6iyd 8 7

Explain the difference between ‘Financial Accounting’, ‘Cost Accounting’ and ‘Management

Accounting’. How are these inter-related 7 12+8
Rt TRRuRA 3 e, Bl o B FE@ annw 3 AR @ A SR 3 =R 7
Under what conditions should a firm pay cash dividend or bonus shares ? ' 10

TR FIHEE’ q F Hﬁqﬁf% ! IR FEa R AU U @ fg IugE 199
AT &1 BFm #3175 R 98WF B g 7

What is ‘Market Research’ ? How does market research help in developing a suitable

marketing strategy for a new product ? 6+14
'Ts;ﬁf (DuPont) fagamur’ T 39 "eHl &1 wuse &y |
Explain “DuPont” analysis and. 1ts éomponents. 10

(i) Wwé%ﬁrﬁm‘{ﬁmw'qﬁgmwﬁ%ﬁaﬁ‘%ﬂm%"@qﬁwﬁ

ST 2 oefE TR g wd @ Twd T8 ww et 2

Why is ‘Employee Stock Option’ shown as part of equity in the balance sheet when

it does not bring in cash to the firm 7 8

(i) TUX faFed’ & @ H TS &S |
Explain the benefits of stock options. . 1.2
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Q. 8(a) FTT WA I A 60 T vl ZE A A T V1000 TR FEGH W, g5 HRARET
# fou @ fala ad fBen 2, Wl am d w70 T R eerd awg agen o 2
e B e yewd ¥l A & WEeed 10 98 9id edrd e 21 AR Wer =%
14 T2 B, Rewr Frafofee & sman ofeka o omn 2

=
=
e v

Yol gardas] & foag 4 92 @ weftracor &t smavgswar @ 8 1 FRER # 10,000 Fomgar
$) aSiE Hdl 8 AT FT 7S Siavd TR & gF1 & IR FAGR D U 500 Fena
$ qEIaE ASC & 7

(i) @ BT A aftfe (FAHRATA) g0 @ 2y F1 yEEdT S

(i) @ @ P-fahy F 1 Ico@ A, 7 9T SO & et 1 Avig
Ty faare §¢ "9ieud

Kanchan Machine Works has received an export order for surface finishing of 1,000

oflfd "|<

castings at the rate of Rs. 60 per casting, as against Rs. 70 per casting that is normally
charged. The direct materials cost for the job 1s estimated to be Rs. 10 per casting. The
machine hour rate is Rs. 14, calculated as tollows :

Cost Item Remark

Power Fully variable with output

Supplies 80% variable with output

Indirect labour 50% variable with output

General factory overhead Not variable with output

Each casting requires four hours of machining. The business has an annual capacity of
10,000 castings; 75 per cent of the capacity has been utilized and the businiess has
committed orders for 500 castings.

(1) Estimate the incremental profit or loss from the order. 14

(ii)' Mention two non-financial factors that the business should consider while deciding

on the order. . 6
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Q. 8(b) @i@ﬁﬁ%ﬂﬁ@ﬂ?«ﬁeﬁﬁmaﬁﬁﬁmaﬂ(uqﬁﬁmgwmﬁ@ﬁ&f
S AT FT @ vsd JATH) -

A pushcart vendor and a vegetable store vendor have identical sales and operating profit
(i.e. profit before interest and tax) :

(i) Wwﬁmrammg sﬁa‘raﬂﬂaﬁ%mﬁmﬁmﬁﬁaﬁﬁm

1 URFAT DY |

" Usmg assumed numbers, calculate the degree of operating leverage for the two

businesses. | | 10
(i) T F FRER ¥ ¥ B FRER & I<uak Adw daw 8 gl § 7

Which of the two businesses can have a higher financial leverage ? 10

Q. 8(c) YW IushTT IJcUE FUAT B AYA IJeur d "W F ApiAe § o @iy @ ofd
- ® fRE yeR gAidm @A "kl 7

How should a popular consumer product company protect its reputation or image from
scandals concerning its products ? x 10

GE~DRAN -N=-OHHA
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